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CONSTRUCTION OF TRIANGLES

Exercise

1. Construct `/_\` ABC in which AB = 5.5 cm , BC = 6.5 cm and CA = 7.5 cm.

Watch Video Solution

2. Construct `/_\` NIB in which NI = 5.6 cm, IB = 6cm and BN = 6 cm . What

type of triangle is this?

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7NY2eyAR8BK3
https://dl.doubtnut.com/l/_uBQUcc7DDAG4
https://dl.doubtnut.com/l/_ybbFmnc3GTiJ


3. Construct an equilateral `/_\`APE with side 6.5 cm.

Watch Video Solution

4. Construct a `/_\` XYZ in which XY = 6 cm , YZ = 8 cm and ZX = 10 cm.What

type of triangle is this?

Watch Video Solution

5. Construct /_\`ABC in which AB=4cm, BC=7cm and CA=3cm. What type of

triangle is this?

Watch Video Solution

6. Sushant prepared a problem. Construct `/_\`XYZ in which XY =2 cm , YZ =

8 cm and XZ = 4 cm. He also drew the rough sketch as shown is figure

(i).Reading the problem, Srija told Sushant that it would not be possible

https://dl.doubtnut.com/l/_ybbFmnc3GTiJ
https://dl.doubtnut.com/l/_SkUIXDrGU3zp
https://dl.doubtnut.com/l/_FoBsj1Ne7kV0
https://dl.doubtnut.com/l/_Jim4fm8QcPQA


to draw the triangle with the given measurements. However, Sushant

started to draw the diagram as shown in figure (ii). Check whether

Sushant can draw the triangle. If not why? Discuss with your friends.

What property of triangles supports Srija's idea?

Watch Video Solution

7. Construct PEN with PE = 4 cm, EN = 5 cm and NP = 3 cm. If you draw

circles instead of arcs how many points of intersection do you get? How

many triangles with given measurements are possible? Is this true in case

of every triangle?

Watch Video Solution

△

8. Draw / _A = 60^@

/_ /_C`. What kind of triangle is

this?

Watch Video Solution

△ `CAR ∈ whichCA = 8cm,

and AR = 8cm. MeasureCR, R and

https://dl.doubtnut.com/l/_Jim4fm8QcPQA
https://dl.doubtnut.com/l/_9xbZaapAWqQN
https://dl.doubtnut.com/l/_vxZqfHicqo5w


9. Construct /_B= 45^@` and BC= 6cm

Watch Video Solution

△ `ABC ∈ whichAB = 5cm,

10. Construct /_R= 100^@` , QR = RP = 5.4 cm.

Watch Video Solution

△ `PQRsuchtˆ

11. Construct a triangle with angles  and  and a side of length of

your choice. Could you construct the triangle? Discuss and justify.

Watch Video Solution

105∘ 95∘

12. Construct /_N = 50^@

/_E= 100^@` .

Watch Video Solution

△ `NETwithmeasurementNE = 6.4cm,

and

https://dl.doubtnut.com/l/_vxZqfHicqo5w
https://dl.doubtnut.com/l/_TaLP13Pwx9vb
https://dl.doubtnut.com/l/_Djtnt6rC00vx
https://dl.doubtnut.com/l/_2PeeE25ojJHf
https://dl.doubtnut.com/l/_MGp8vS4PPPZn


13. Construct /_E= 90^@` and NE = 4 cm.

Watch Video Solution

△ `TENsuchtT̂ E = 3cm,

14. Construct /_Q= /_R = 60^@`. Measure the

other two sides of the triangle and name the triangle.

Watch Video Solution

△ `PQRsuchtQ̂R = 6cm,

15. Construct /_R= /_N = 45^@`. Measure

the other angle and other sides. Name the triangle.

Watch Video Solution

△ `RUN ∈ whichRN = 5cm,

16. Construct a `/_\`PQR , right angled at R , hypotenuse is 5 cm and one of

its adjacent sides is 4 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_iBW6VprBJH5m
https://dl.doubtnut.com/l/_RbbNT4E86JEk
https://dl.doubtnut.com/l/_L9HAQsiaIex6
https://dl.doubtnut.com/l/_aW2Tddx54HDE


17. Construct a right angled /_B= 90^@` , AB = 8 cm and

AX = 10 cm.

Watch Video Solution

△ `ABCsuchtˆ

18. Construct /_B=

50^@`. Check whether you get two triangles.

Watch Video Solution

△ `ABC ∈ whichAB = 4.5cm, AC = 4.5cm and

19. Construct /_Y =

70^@` . Check whether you get two triangles.

Watch Video Solution

△ `XYZsuchtX̂ Y = 4.5cm, XZ = 3.5cm and

https://dl.doubtnut.com/l/_aW2Tddx54HDE
https://dl.doubtnut.com/l/_2rRK5QvyHGiN
https://dl.doubtnut.com/l/_rFipW9RrgqZm
https://dl.doubtnut.com/l/_LfJnpG681P4p


20. Construct

/_N ^@` . Check whether you get two triangles.

Watch Video Solution

△ `ANRwiththesidesAN and ARof ≤ n > hs5cm and 6cmrespective

is100

21. Construct the triangle with the measurements: `/_\`ABC, BC=6.5cm,

CA=6.3,AB=4.8cm.

Watch Video Solution

22. Construct the triangle with the measurements:

/_PQR=

Watch Video Solution

△ `PQR, PQ = 8cm, QR = 7.5cm, 85∘

https://dl.doubtnut.com/l/_v0jWBUV1T17r
https://dl.doubtnut.com/l/_ulMg5MuzJ3nI
https://dl.doubtnut.com/l/_LOhgY8GnBnxl


23. Construct the triangle with the measurements:

`/_\`XYZ,XY=6.2,YZ=5cm,ZX=5cm. what type of triangle is this?

Watch Video Solution

24. Construct the triangle with the measurements:

BC=6.5cm

Watch Video Solution

△ `ABC, AB = 4.8cm, AC = 4.8cm,

25. Construct the triangle with the measurements: /_`N=90,

MP=11.4cm, MN=7.3cm.

Watch Video Solution

△ `MNP ,

26. Construct the triangle with the measurements:

`/_\`RKS,RK=KS=SR=6.6cm

https://dl.doubtnut.com/l/_V2GG7uOs6dk5
https://dl.doubtnut.com/l/_S3edcB611Oa7
https://dl.doubtnut.com/l/_OT9UxYw36va6
https://dl.doubtnut.com/l/_6580NZyHR6WL


Example

Watch Video Solution

27. Construct the triangle with the measurements:

`/_\`RKS,RK=KS=SR=6.6cm

Watch Video Solution

1. Construct a PQR with sides PQ = 4 cm,QR = 5 cm and RP= 7 cm.

Watch Video Solution

△

2. Construct ABC in which AB = 4 cm, BC = 5cm and  = 

Watch Video Solution

Δ ∠B 50∘

https://dl.doubtnut.com/l/_6580NZyHR6WL
https://dl.doubtnut.com/l/_eRHSEeEMj3nm
https://dl.doubtnut.com/l/_HRGGKC1n1YLb
https://dl.doubtnut.com/l/_jSlWoKWaVah1


Try This

3. Construct / _M= 45^@ /_A= 100^@`.

Watch Video Solution

△ `MANwithMA = 4cm, and

4. Construct `/_\`ABC, right-angled at A, and BC = 6 cm, AB = 5 cm.

Watch Video Solution

5. Construct /_B = 40^@` .

Watch Video Solution

△ `ABCsuchtÂB = 5cm, AC = 4cm,

1. Construct a triangle with the same measurements given in above

example taking PQ as base. Are the triangles congruent?

Watch Video Solution

https://dl.doubtnut.com/l/_r5bs1Qq3ULBr
https://dl.doubtnut.com/l/_FEnQWQKtR9RE
https://dl.doubtnut.com/l/_uOpd7wex8qr2
https://dl.doubtnut.com/l/_Y79n4VGzpCsc


2. Construct a PET , PE = 4.5 cm, ET = 5.4 cm and TP = 6.5 cm in your

notebook. Now construct `/_\` ABC , AB = 5.4 cm ,BC = 4.5 cm and CA = 6.5

cm on a piece of paper. Cut it out and place it on the figure you have

constructed in your notebook. Are the triangles congruent? Write your

answer using mathematical notation.

Watch Video Solution

△

3. Construct a triangle with angles  and  and a side of length of

your choice. Could you construct the triangle? Discuss and justify.

Watch Video Solution

105∘ 95∘

4. Construct a triangle with two sides of length of your choice and the

non-included angle as an obtuse angle. Can you draw two triangles in this

solution?

Watch Video Solution

https://dl.doubtnut.com/l/_Y79n4VGzpCsc
https://dl.doubtnut.com/l/_RWfVzb7h8hxN
https://dl.doubtnut.com/l/_qLYBfMPbV7eL
https://dl.doubtnut.com/l/_Nd4mfTK1oiZU


Exercise 1

Watch Video Solution

1. Construct `/_\` ABC in which AB = 5.5 cm , BC = 6.5 cm and CA = 7.5 cm.

Watch Video Solution

2. Construct `/_\` NIB in which NI = 5.6 cm, IB = 6cm and BN = 6 cm . What

type of triangle is this?

Watch Video Solution

3. Construct an equilateral `/_\`APE with side 6.5 cm.

Watch Video Solution

https://dl.doubtnut.com/l/_Nd4mfTK1oiZU
https://dl.doubtnut.com/l/_tldlGslm73jb
https://dl.doubtnut.com/l/_86S76y3jYrTG
https://dl.doubtnut.com/l/_EHbCZxsa9m3c


Exercise 2

4. Construct a `/_\` XYZ in which XY = 6 cm , YZ = 8 cm and ZX = 10 cm.What

type of triangle is this?

Watch Video Solution

5. Construct /_\`ABC in which AB=4cm, BC=7cm and CA=3cm. What type of

triangle is this?

Watch Video Solution

6. Construct PEN with PE = 4 cm, EN = 5 cm and NP = 3 cm. If you draw

circles instead of arcs how many points of intersection do you get? How

many triangles with given measurements are possible? Is this true in case

of every triangle?

Watch Video Solution

△

https://dl.doubtnut.com/l/_vfq9Lweb3Fsa
https://dl.doubtnut.com/l/_v3xz5ZJMoT5y
https://dl.doubtnut.com/l/_KqPL0DHtTRU1


1. Draw / _A = 60^@

/_ /_C`. What kind of triangle is

this?

Watch Video Solution

△ `CAR ∈ whichCA = 8cm,

and AR = 8cm. MeasureCR, R and

2. Construct /_B= 45^@` and BC= 6cm

Watch Video Solution

△ `ABC ∈ whichAB = 5cm,

3. Construct /_R= 100^@` , QR = RP = 5.4 cm.

Watch Video Solution

△ `PQRsuchtˆ

4. Construct /_E= 90^@` and NE = 4 cm.

Watch Video Solution

△ `TENsuchtT̂ E = 3cm,

https://dl.doubtnut.com/l/_VupAOCkeK9DU
https://dl.doubtnut.com/l/_uMOvqlgzs4jG
https://dl.doubtnut.com/l/_ckzfasVtibOB
https://dl.doubtnut.com/l/_oLWFVl6xTDls


Exercise 3

Exercise 4

1. Construct /_N = 50^@

/_E= 100^@` .

Watch Video Solution

△ `NETwithmeasurementNE = 6.4cm,

and

2. Construct /_Q= /_R = 60^@`. Measure the

other two sides of the triangle and name the triangle.

Watch Video Solution

△ `PQRsuchtQ̂R = 6cm,

3. Construct /_R= /_N = 45^@`. Measure

the other angle and other sides. Name the triangle.

Watch Video Solution

△ `RUN ∈ whichRN = 5cm,

https://dl.doubtnut.com/l/_6SLiLC0I8Ye9
https://dl.doubtnut.com/l/_PbvYVRyo09UC
https://dl.doubtnut.com/l/_RG5eC4lsIRyE


Exercise 5

1. Construct a right angled /_B= 90^@` , AB = 8 cm and

AX = 10 cm.

Watch Video Solution

△ `ABCsuchtˆ

2. Construct a `/_\`PQR , right angled at R , hypotenuse is 5 cm and one of

its adjacent sides is 4 cm.

Watch Video Solution

3. Construct an isosceles right angled /_Y= 90^@` and

the two sides are 5 cm each.

Watch Video Solution

△ `XYZ ∈ which

https://dl.doubtnut.com/l/_BXGkGSUL1RaW
https://dl.doubtnut.com/l/_xokoSPk52KDa
https://dl.doubtnut.com/l/_uCKOFYn5Yj3U


1. Construct /_B=

50^@`. Check whether you get two triangles.

Watch Video Solution

△ `ABC ∈ whichAB = 4.5cm, AC = 4.5cm and

2. Construct /_Y =

70^@` . Check whether you get two triangles.

Watch Video Solution

△ `XYZsuchtX̂ Y = 4.5cm, XZ = 3.5cm and

3. Construct

/_N ^@` . Check whether you get two triangles.

Watch Video Solution

△ `ANRwiththesidesAN and ARof ≤ n > hs5cm and 6cmrespective

is100

https://dl.doubtnut.com/l/_sHRkBP03zvY2
https://dl.doubtnut.com/l/_QAOZdp2vL5A2
https://dl.doubtnut.com/l/_IhRgKyryoWhM


4. Construct /_Q =

60^@` . Measure RP. What kind of triangle is this?

Watch Video Solution

△ `PQR ∈ whichQR = 5.5cm, QP = 5.5cm and

5. Construct the triangle with the measurement given in the following

table . 

Watch Video Solution

https://dl.doubtnut.com/l/_IpaXsBo9MvFn
https://dl.doubtnut.com/l/_tbusb17EBP4F

